
Q.1 िनɻिलİखत चार अƗर-संयोजनो ं मŐ से तीन िकसी िनिʮत तरीके से समान हœ और इस Ůकार एक समूह
बनाते हœ। कौन सा अƗर-संयोजन उस समूह से संबंिधत नही ं है?

Ans 1. DFB

2. TVR

3. QSO

4. KGI

Question ID : 26433081506

Status : Answered

Chosen Option : 4

Q.2 उस िवकʙका चयन कीिजए जो पांचवŐ अƗर-समूह से उसी Ůकार संबंिधत है िजस Ůकार दूसरा अƗर-
समूह पहले अƗर-समूह से संबंिधत है और चौथा अƗर-समूह तीसरे अƗर-समूह से संबंिधत है।
JUMPED : LWORGF :: QUICKS : SWKEMU :: FUZING : ?

Ans 1. IPKBWH

2. HWBKPI

3. HWKBPI

4. HKWIPB

Question ID : 26433056404

Status : Answered

Chosen Option : 2

Q.3 एक िनिʮत कूट भाषा मŐ, 'PSYCHIC' को 'YSPCCIH' िलखा जाता है और 'CITIZEN' को 'TICINEZ'
िलखा जाता है। उसी भाषा मŐ 'MAHATMA' कैसे िलखा जाएगा?

Ans 1. HAMAATM

2. HAMAAMT

3. HAMAMAT

4. AHMAAMT

Question ID : 26433059887

Status : Answered

Chosen Option : 2

Q.4 िनɻिलİखत समीकरण को सही करने के िलए िकन दो िच˥ों को आपस मŐ और िकन दो संƥाओं को
आपस मŐ बदला जाना चािहए?
150 × 15+ 14 – 9 ÷ 2 =6

Ans 1. 150, 2, ÷, −

2. 9, 2, ÷, ×

3. 15, 9, +, ÷

4. 9, 2, −, ×

Question ID : 264330102494

Status : Answered

Chosen Option : 2
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Q.5 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.
Statements:
Some doctors are painters.
Some doctors are labours.
All the labours are athletes.
Conclusions:
I. Some labours are painters.
II. Some athletes are doctors.
III. All the doctors are athletes.
IV. Some athletes are painters.

Ans 1. Only conclusions I and II follow

2. Only conclusion II follows

3. Only conclusions II and III follow

4. Only conclusion III follows

Question ID : 26433068557

Status : Answered

Chosen Option : 2

Q.6 एक अनुŢम िदया गया है, िजसमŐ से एक पद लुɑ है। िदए गए िवकʙों मŐ से वह सही िवकʙ चुिनए, जो
अनुŢम को पूरा करे।
NMQR, NQYD, NUGP, NYOB, ?

Ans 1. NMWN

2. NWRQ

3. NCWN

4. NQRC

Question ID : 264330104839

Status : Answered

Chosen Option : 3
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Q.7

Ans

1. 

2. 

3. 

4. 

Question ID : 26433068711

Status : Answered

Chosen Option : 4

Q.8 उस समुǄय का चयन कीिजए िजसमŐ संƥाएं आपस मŐ उसी Ůकार संबंिधत हœ िजस Ůकार िनɻिलİखत
समुǄयों की संƥाएं आपस मŐ संबंिधत हœ।
(नोट: संƥाओं को उसके घटक अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर गिणतीय संिŢयाएं की
जानी चािहए। उदाहरण के िलए 13 - गिणतीय संिŢयाएं जैसे िक जोड़ना/घटाना/गुणा करना इ̝यािद 13
मŐ िकया जा सकता है। 13 को 1 और 3 मŐ िवभािजत करना और िफर 1 और 3 पर गिणतीय संिŢयाएं
करने की अनुमित नही ं है।)
(240, 55, 65)
(320, 85, 75)

Ans 1. (160, 35, 45)

2. (200, 5, 105)

3. (140, 35, 25)

4. (220, 90, 15)

Question ID : 26433076472

Status : Answered

Chosen Option : 1
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Q.9 संƥाओं के िवषम समूह का चयन करŐ। (ȯान दŐ: संƥाओं को उनके संघटक अंको ं मŐ िवभािजत िकए
िबना, पूणŊ संƥाओं पर संिŢयाएँ िन˃ािदत की जानी चािहए। उदाहरण "13" - 13 पर संिŢयाएँ जैसे
िक 13 मŐ जोड़ना/घटाना/गुणा करना आिद िकया जा सकता है। 13 को 1 और 3 मŐ तोड़ना और िफर 1
और 3 पर गिणतीय संिŢयाएँ करने की अनुमित नही ं है)

Ans 1. (171 –169 –167 )

2. (153 – 151 – 147)

3. (183 – 181 – 178)

4. (201 –198 –197)

Question ID : 264330105072

Status : Answered

Chosen Option : 4

Q.10

Ans

1. 

2. 

3. 

4. 

Question ID : 26433068724

Status : Answered

Chosen Option : 2
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Q.11

Ans 1. 4

2. 1

3. 5

4. 3

Question ID : 26433079370

Status : Answered

Chosen Option : 2

Q.12 यिद '+' का अथŊ '÷' है,' ̶ ' का अथŊ '+' है, '×' का अथŊ ' ̶ ' है और '÷' का अथŊ '×' है, तो िनɻिलİखत ʩंजक
का मान Ɛा होगा?
[{(38 × 23) - (4 ÷ 3)} + (6 - 3)] ÷ 2

Ans 1. 8

2. 6

3. 3

4. 12

Question ID : 26433067864

Status : Answered

Chosen Option : 2

Q.13 A @ B का अथŊ है 'A, B की बहन है'।
A & B का अथŊ है 'A, B का भाई है'।
A # B का अथŊ है 'A, B की पȉी है'।
A ^ B का अथŊ है 'A, B की मां है'।
A + B का अथŊ है 'A, B का िपता है'।
यिद A + G & I + R @ S @ T # U & V है, तो िनɻिलİखत मŐ से कौन-सा कथन सही नही ं है?

Ans 1. R, A की पोती है।

2. G, I का भाई है।

3. A, T का नाना है।

4. I, U का ससुर है।

Question ID : 26433067581

Status : Answered

Chosen Option : 3
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Q.14 एक िनिʮत कूट भाषा मŐ ‘CYTOSKELETON’ को ‘TYCKSOELENOT’ के ŝप मŐ,
‘MALNUTRITION’ को ‘LAMTUNTIRNOI’ के ŝप मŐ िलखा जाता है। उसी भाषा मŐ
‘ALLITERATION’ को िकस Ůकार िलखा जाएगा?

Ans 1. LLAETITRANOI  

2. LLEATITARNOI  

3. LLAETITARNOI 

4. LLAETIATRNOI  

Question ID : 26433068240

Status : Answered

Chosen Option : 3

Q.15 उस िवकʙका चयन करŐ जो पांचवŐ अƗर-समूह से उसी Ůकार संबंिधत है िजस Ůकार दूसरा अƗर-
समूह पहले अƗर-समूह से संबंिधत है और चौथा अƗर-समूह तीसरे अƗर-समूह से संबंिधत है।
GAVE : AGEV :: KEPT : EKTP :: ACID : ?

Ans 1. CIAD

2. CAID

3. ACDI

4. CADI

Question ID : 26433068508

Status : Answered

Chosen Option : 4

Q.16 िनɻिलİखत मŐ से कौन सी संƥा दी गई ŵेणी मŐ Ůʲिच˥ (?) के ̾थान पर आएगी?
4, 6, 12, 14, 28, 30, ?

Ans 1. 62

2. 60

3. 52

4. 54

Question ID : 26433067871

Status : Answered

Chosen Option : 2

Q.17 यिद A × B का अथŊ है िक A, B का िपता है, A + B का अथŊ है िक A, B की माता है, A ÷ B का अथŊ है
िक A, B का भाई है, तो िनɻिलİखत मŐ से कौन सा ʩंजक यह िनŝिपत करता है, िक Q, P का पुũ है?

Ans 1. Q + P × R

2. P + Q × R

3. P + Q ÷ R

4. R × Q + P

Question ID : 264330104983

Status : Answered

Chosen Option : 2

Q.18 िवक̵पो ं मŐ िदया गया कौन सा अƗर-समूह िनɻिलİखत Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आकर
Şंखला को पूणŊ करेगा?
DW, FU, GT, IR, JQ, ?

Ans 1. LP

2. LN

3. MO

4. LO

Question ID : 26433067272

Status : Answered

Chosen Option : 4
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Q.19 िनɻिलİखत मŐ से कौन-से अंको ंऔर गिणतीय िच˥ो ं को एक दूसरे के ̾थान पर रखने पर समीकरण
सही (संतुिलत) हो जाएगा?
30 ÷ 6 × 4 + 15−35 = 25

Ans 1. 4 और 6, + और−

2. 25 और 35, × और ÷

3. 30 और 35, −और ÷

4. 25 और 30, × और −

Question ID : 264330104005

Status : Answered

Chosen Option : 2

Q.20 नीचे िदए गए Ůʲ मŐ कुछ कथनऔर उनके बाद उन कथनो ं पर आधाįरत कुछ िनʺषŊ िदए गए हœ। िदए
गए कथनो ं को सही मानŐ, भले ही उनमŐ सामाɊतः ǒात तȚों से िभɄता हो। सभी िनʺषŊ पढ़Ő और िफर
िनधाŊįरत करŐ िक कौन से िनʺषŊ, िदए गए कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।
कथन:
I. सभी K, H हœ।
II. कोई S, K नही ं है।
िनʺषŊ:
I. कोई K, S नही ं है।
II. सभी H, K हœ।

Ans 1. I तथा II दोनों िनʺषŊ अनुसरण करते हœ

2. केवल िनʺषŊ II अनुसरण करता है

3. कोई भी िनʺषŊ अनुसरण नही ं करता है

4. केवल िनʺषŊ I अनुसरण करता है

Question ID : 264330104921

Status : Answered

Chosen Option : 4

Q.21 उस िवकʙका चयन करŐ जो चौथी संƥा से उसी Ůकार संबंिधत है िजस Ůकार पहली संƥा दूसरी
संƥा से और पांचवी ं संƥा छठी संƥा से संबंिधत है।
35 : 21 :: ? : 36 :: 40 : 24

Ans 1. 65

2. 55

3. 50

4. 60

Question ID : 26433059935

Status : Answered

Chosen Option : 4
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Q.22

Ans

1. 

2. 

3. 

4. 

Question ID : 26433080514

Status : Not Answered

Chosen Option : --
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Q.23

Ans

1. 

2. 

3. 

4. 

Question ID : 26433068616

Status : Answered

Chosen Option : 3

Q.24 िदए गए शɨों को अंŤेजी शɨकोश के अनुसार ʩवİ̾थत करने के पʮात्, कौन सा शɨ ‘चौथे’ ̾थान
पर आएगा?
1. Unseen
2. Unseam
3. Unsafe
4. Unsound
5. Unsay

Ans 1. Unseam

2. Unseen

3. Unsound

4. Unsay

Question ID : 264330104898

Status : Answered

Chosen Option : 2
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Q.25 उस िवकʙका चयन करŐ जो तीसरी संƥा से उसी Ůकार संबंिधत है िजस Ůकार दूसरी संƥा पहली
संƥा से संबंिधत है और छठी संƥा पांचवी ं संƥा से संबंिधत है।
12 : 16 :: 18 : ? :: 24 : 64

Ans 1. 36

2. 26

3. 32

4. 28

Question ID : 26433067904

Status : Answered

Chosen Option : 1

Q.1 कोिशका चŢ के बारे मŐ िनɻिलİखत मŐ से कौन सा कथन असȑ है?

Ans 1. समसूũी िवभाजन की तैयारी G2 चरण मŐ होती है।

2. G1 चरण मŐ, कोिशका शारीįरक ŝप से बड़ी हो जाती है और कोिशकांगों की Ůितकृित बनाती है।

3. S चरण मŐ डीएनए की Ůितकृित बनती है।

4. M चरण मŐ, कोिशका शारीįरक ŝप से बड़ी हो जाती है और कोिशकांगों की Ůितकृित बनाती है।

Question ID : 26433089672

Status : Not Answered

Chosen Option : --

Q.2 िनɻिलİखत मŐ से िकस शहर ने अंतराŊ Ō̓ ीय सैɊ खेल पįरषद Ȫारा आयोिजत 2019 के सैɊ िवʷ खेलो ं
की मेजबानी की थी?

Ans 1. वुहान, चीन

2. मंुगयोगं, दिƗण कोįरया

3. बोगोटा, कोलंिबया

4. įरयो डी जनेįरयो, Űाज़ील

Question ID : 26433059411

Status : Not Answered

Chosen Option : --

Q.3 What are the three parts of bacterial flagellum?

Ans 1. Filament, hook and basal body

2. Head, tail and lower body

3. Filament, tail and hook

4. Basal body, tail and filament

Question ID : 26433066672

Status : Not Answered

Chosen Option : --

Q.4 भारत के उपरा Ō̓ पित को ______ वषŘ की अविध के िलए चुना जाता है।
Ans 1. 3

2. 2

3. 5

4. 6

Question ID : 26433064839

Status : Answered

Chosen Option : 3

Section : General Awareness
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Q.5 CaOCl2 यौिगक का Ůचिलत नाम ______ है।
Ans 1. धावन सोडा

2. बेिकंग सोडा

3. ɰीिचंग पाउडर

4. िजɛम

Question ID : 264330105486

Status : Answered

Chosen Option : 3

Q.6 िनɻिलİखत मŐ से कौन-सी लोक नृȑ शैली गुजरात राǛ से संबंिधत नही ं है?

Ans 1. डांिडया रास

2. गरबा

3. िबदेिसया

4. िवंछुड़ो

Question ID : 26433086718

Status : Answered

Chosen Option : 4

Q.7 कंटीली झािड़यां ______ Ɨेũो ं मŐ पाई जाती हœ।
Ans 1. शुʺ रेिगˑानी

2. भूमȯसागरीय

3. Ŭुवीय

4. अȑिधक वषाŊ

Question ID : 264330105647

Status : Not Answered

Chosen Option : --

Q.8 संगम किवताओं मŐ विणŊत तिमल शɨ 'मुवेȽार (muvendar)' का अथŊ _______ है।
Ans 1. Ůधान

2. तीन मुİखया

3. धनी

4. धʃ महामाȅ

Question ID : 264330105185

Status : Not Answered

Chosen Option : --

Q.9 8वी ं बार िबहार के मुƥमंũी के ŝप मŐ िकसने शपथ ली है?

Ans 1. अनुŤह नारायण

2. नीतीश कुमार

3. Ůमोद सावंत

4. तेजˢी Ůसाद यादव

Question ID : 264330105343

Status : Answered

Chosen Option : 2
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Q.10 िदए गए Ɨेũो ं मŐ से कौन-सा मुƥŝप से सामािजक कʞाण के िवचारो ं से Ůेįरत है?

Ans 1. िनजी

2. िवदेशी

3. सहकारी

4. सावŊजिनक

Question ID : 26433069841

Status : Answered

Chosen Option : 4

Q.11 िनमाŊण ŵिमको ं के कौशल को उɄत करने के िलए 'िमशन कुशल कमŎ' शुŝ िकया गया था। यह
कायŊŢम _______ की सरकार Ȫारा शुŝ िकया गया था।

Ans 1. हįरयाणा

2. पंजाब

3. िदʟी

4. गुजरात

Question ID : 264330105312

Status : Not Answered

Chosen Option : --

Q.12 युवा ओलंिपक खेलो ं के पहले संˋरण का आयोजन कहां िकया गया था?
Ans 1. इंसŰुक (Innsbruck)

2. लुसाने (Lausanne)

3. िसंगापुर (Singapore)

4. नांिजंग (Nanjing)

Question ID : 26433071551

Status : Not Answered

Chosen Option : --

Q.13 िनɻिलİखत मŐ से कौन-सा ȑोहार अगˑ-िसतंबर के महीने मŐ मनाया जाता है?

Ans 1. मकर संŢांित

2. ओणम

3. बीकानेर महोȖव

4. पतंग महोȖव

Question ID : 26433071693

Status : Answered

Chosen Option : 2

Q.14 िहंदू कॉलेज की ̾थापना 1791 मŐ _________ मŐ Šई थी।
Ans 1. सूरत

2. कलकȅा

3. ढाका

4. बनारस

Question ID : 264330105578

Status : Answered

Chosen Option : 4
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Q.15 ʴामजी कृˁ वमाŊ ने 1905 मŐ _________ मŐ इंिडया हाउस की ̾थापना की।
Ans 1. ɊूयॉकŊ

2. लंदन

3. बॉɾे

4. पेįरस

Question ID : 26433085277

Status : Answered

Chosen Option : 2

Q.16 उन जीवो ं के उदाहरण की पहचान करŐ , जो मुƅ-̪लावी और तल-वासी ŝप मŐ होते हœ।
Ans 1. कवक

2. Ůािण̪लवक

3. जेलीिफश

4. पादप ̪लवक

Question ID : 26433087872

Status : Not Answered

Chosen Option : --

Q.17 िनɻिलİखत िवकʙों मŐ से सही युƵ का चयन करŐ।
Ans 1. दूसरी पंचवषŎय योजना - कृिष पर फोकस

2. तीसरी पंचवषŎय योजना - तीŴ औȨोगीकरण और बुिनयादी उȨोग

3. पहली पंचवषŎय योजना – महालनोिबस मॉडल

4. चौथी पंचवषŎय योजना - पįरवार िनयोजन कायŊŢम

Question ID : 26433064862

Status : Answered

Chosen Option : 2

Q.18 अɨुल करीम खान िहंदुˑानी संगीत के िकस ˋूल के Ůितपादक थे?

Ans 1. िकराना घराना

2. जयपुर घराना

3. िदʟी घराना

4. ƹािलयर घराना

Question ID : 26433071636

Status : Not Answered

Chosen Option : --

Q.19 'इंिदरा गांधी शहरी रोजगार गारंटी योजना 2022' िकस राǛ सरकार Ȫारा लागू की गई है?

Ans 1. िहमाचल Ůदेश

2. उȅर Ůदेश

3. राज̾थान

4. महारा Ō̓

Question ID : 264330105273

Status : Answered

Chosen Option : 3
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Q.20 िनɻ मŐ से कौन सा उǄतम गुणवȅा वाला कोयला है?

Ans 1. एंŪेसाइट

2. िपट

3. िलưाइट

4. िबटुमिनस

Question ID : 264330105504

Status : Answered

Chosen Option : 1

Q.21 िनɻिलİखत मŐ से कौन सी केवल रबी की फसलŐ हœ?
Ans 1. गेšं और ǜार

2. जौ और चना

3. मſा और मटर

4. धान और कपास

Question ID : 26433092868

Status : Not Answered

Chosen Option : --

Q.22 Ǜोितबा फुले ने 1873 मŐ 'गुलामिगरी' िनɻिलİखत मŐ से िकस भाषा मŐ िलखी थी?
Ans 1. िहȽी

2. गुजराती

3. मराठी

4. अंŤेज़ी

Question ID : 26433085299

Status : Not Answered

Chosen Option : --

Q.23 भारत के/की िकस Ůधान मंũी के नेतृȕ मŐ भारत के संिवधान मŐ मौिलक कतŊʩों को जोड़ा गया था?
Ans 1. नरिसʉा राव

2. चरण िसंह

3. लाल बहादुर शा˓ी

4. इंिदरा गांधी

Question ID : 26433074890

Status : Answered

Chosen Option : 1

Q.24 The SI unit of acceleration is ______.

Ans 1. m2/s2

2. m/s

3. m2/s

4. m/s2

Question ID : 264330105463

Status : Answered

Chosen Option : 4
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Q.25 िनɻिलİखत शा˓ीय नतŊिकयो ं मŐ से िकसे 2003 मŐ पȧ िवभूषण पुरˋार से सʃािनत िकया गया था?
Ans 1. सोनल मानिसंह

2. सुनयना हजारीलाल

3. शोवना नारायण

4. कुमुिदनी लाİखया

Question ID : 26433082127

Status : Not Answered

Chosen Option : --

Q.1 यिद एक िũभुज के कोण (x – 46) िडŤी, (x + 96) िडŤी तथा 8x िडŤी हœ, तो 2x का मान Ɛा है?

Ans 1. 26 िडŤी

2. 13 िडŤी

3. 15 िडŤी

4. 24 िडŤी

Question ID : 264330105828

Status : Answered

Chosen Option : 1

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 26433075784

Status : Answered

Chosen Option : 1

Q.3 sinα - sinβ Ɛा है?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433074356

Status : Not Answered

Chosen Option : --

Section : Quantitative Aptitude
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Q.4 एक ˋूटर के मूʞ मŐ Ţिमक तौर पर 10%, 5% और 15% की वृİȠ होती है। ˋूटर की कीमत मŐ कुल
िकतने Ůितशत की वृİȠ Šई है।

Ans

1. 

2. 

3. 

4. 

Question ID : 26433074455

Status : Answered

Chosen Option : 2

Q.5 एक समबाŠ िũभुज की भुजा 12 से.मी. है। इस समबाŠ िũभुज को पįरगत करने वाले वृȅ की िũǛा
Ɛा है?

Ans 1. 

2. 

3. 

4. 

Question ID : 264330105871

Status : Answered

Chosen Option : 1

Q.6 उन संƥाओं के महȅम समापवतŊक (HCF) और लघुȅम समापवȑŊ (LCM) के बीच का अनुपात Ɛा है
िजनका लघुȅम समापवȑŊ (LCM) 48 है और संƥाओं का गुणनफल 384 है?

Ans 1. 1 : 6

2. 1 : 3

3. 1 : 4

4. 2 : 5

Question ID : 26433075048

Status : Answered

Chosen Option : 1ww
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Q.7

Ans
1. 

2. 

3. 

4. 

Question ID : 26433081613

Status : Answered

Chosen Option : 4

Q.8 नीचे दी गई तािलका 6 िविभɄ राǛो से एक सवőƗण मŐ भाग लेने वाले ʩİƅयो की संƥा को दशाŊती है
।

राǛ S3 से सवőƗण मŐ भाग लेने वाले ʩİƅयो की संƥा का राǛ S4 से सवőƗण मŐ भाग लेने वाले
ʩİƅयो की संƥा से अनुपात Ɛा है?

Ans 1. 4 : 5

2. 4 : 3

3. 3 : 5

4. 5 : 4

Question ID : 264330105727

Status : Answered

Chosen Option : 1
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Q.9

Ans 1. 4

2. 2

3. 3

4. 5

Question ID : 26433076406

Status : Answered

Chosen Option : 1

Q.10

का मान Ɛा होगा?

Ans
1. 

2. 1

3. 

4. 

Question ID : 264330105904

Status : Answered

Chosen Option : 2

Q.11 A, B और C एक कायŊ को अलग-अलग Ţमश: 10, 20 और 40 िदन मŐ पूरा कर सकते हœ। यिद A को
Ůȑेक तीसरे िदन B और C दोनो ं Ȫारा सहायता Ůदान की जाए तो कायŊ िकतने िदन मŐ पूरा होगा?

Ans 1. 

2. 

3. 

4. 

Question ID : 26433076084

Status : Answered

Chosen Option : 4
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Q.12 O इस वृȅ का कŐ ū है। िबंदु P से खीचंी गई ˙शŊ रेखा वृȅ को Q पर ˙शŊ करती है। यिद PQ = 24 सेमी
और OQ = 10 सेमी है, तो OP का मान Ɛा है?

Ans 1. 13 से.मी.

2. 15 से.मी.

3. 26 से.मी.

4. 52 से.मी.

Question ID : 264330105836

Status : Answered

Chosen Option : 3

Q.13 1.6 और 3.6 के बीच म̡यानुपाती तथा 5 और 8 के तृतीयानुपाती का अनुपात Ɛा है?

Ans 1. 5 : 16

2. 4 : 15

3. 2 : 15

4. 3 : 16

Question ID : 26433064985

Status : Answered

Chosen Option : 4

Q.14 (sin30° cos60° - cos30° sin60°) का मान िन̱न मŐ से िकसके बराबर है?

Ans 1. cos30°

2. -sin30°

3. -cos30°

4. sin30°

Question ID : 26433058441

Status : Answered

Chosen Option : 2

Q.15 एक दुकानदार एक वˑु को 10% और 20% की Ţिमक छूट पर बेचने पर 44% का शुȠ लाभ अिजŊत
करता है। यिद दुकानदार उसी वˑु को 15% की छूट पर बेचता है, तो शुȠ लाभ Ůितशत ǒात कीिजए।

Ans 1. 70%

2. 30%

3. 40%

4. 50%

Question ID : 26433075945

Status : Answered

Chosen Option : 1ww
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Q.16

Ans
1. 

2. 

3. 

4. 

Question ID : 26433079982

Status : Answered

Chosen Option : 1

Q.17 एकआदमी एक नाव को Ůवाह की िदशा मŐ चलाते Šए एक िनिʮत दूरी 9 घंटे मŐ तय करता है, जबिक
Ůवाह की िवपरीत िदशा मŐ नाव चलाते Šए समान दूरी तय करने मŐ उसे 18 घंटे का समय लगता है। शांत
जल मŐ समान दूरी के तीन बटे पाँच भाग तक नाव चलाने मŐ उसे िकतने घंटे लगŐगे?

Ans 1. 7.2

2. 12

3. 9.5

4. 10

Question ID : 26433075770

Status : Answered

Chosen Option : 1

Q.18 एक परीƗा मŐ एक कƗा मŐ 25 छाũो ं के अंको ं का औसत 19 था। बाद मŐ, िशƗक ने महसूस िकया िक दो
छाũो ं के अंक 14 और 15 के बजाय गलती से Ţमशः 18 और 19 िलए गए थे। कƗा का नया वा̾तिवक
औसत अंक ǒात कीिजए।

Ans 1. 17.43

2. 16.56

3. 18.68

4. 17.65

Question ID : 26433063768

Status : Answered

Chosen Option : 3

Q.19

x एक ऋणाȏक संƥा इस Ůकार है िक k + k–1 = –2 है, तो का मान Ɛा है?

Ans 1. 7

2. –1

3. –7

4. 1

Question ID : 264330105957

Status : Answered

Chosen Option : 4
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Q.20 8127 को 8 से भाग देने पर शेषफलƐा होगा?
Ans 1.  4

2.  7

3.  6

4.  5

Question ID : 26433075270

Status : Answered

Chosen Option : 2

Q.21 4 cm िũǛा वाले सीसे के एक अधŊगोले को 72 cm ऊँचाई वाले एक लɾ वृȅीय शंकु मŐ ढाला जाता है।
शंकु के आधार की िũǛा Ɛा है?

Ans 1. 1.33 cm

2. 1.63 cm

3. 1.45 cm

4. 1.35 cm

Question ID : 26433063812

Status : Answered

Chosen Option : 1

Q.22 एक ʩİƅ िकसी िनिʮत रािश को 25 Ůितशत की वािषŊक दर से साधारण ɯाज पर उधार देता है। 6
वषŘ मŐ ɯाज, उधार दी गई रािश से 360 Ŝपये अिधक हो जाता है। उधार दी गई रािशƐा है?

Ans 1. 540 Ŝपये

2. 720 Ŝपये

3. 600 Ŝपये

4. 360 Ŝपये

Question ID : 264330105669

Status : Answered

Chosen Option : 2
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Q.23

Ans
1. 

2. 

3. 

4. 

Question ID : 26433082521

Status : Answered

Chosen Option : 3

Q.24

Ans 1. 2452

2. 2542

3. 2302

4. 2650

Question ID : 26433066340

Status : Answered

Chosen Option : 3

Q.25 एक जोड़ी जूते के Ţय-मूʞऔर िवŢय-मूʞ के बीच का अंतर Rs.1,200 है। यिद लाभ 15% है, तो
िवŢय मूʞ है:

Ans 1. Rs.8,000

2. Rs.9,200

3. Rs.8,200

4. Rs.9,000

Question ID : 26433063697

Status : Answered

Chosen Option : 2

Section : English Comprehension
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Q.1 Select the most appropriate option to fill in the blank.

If you try to do something every day you will ________ progress.

Ans 1. get  

2. make  

3. hold  

4. catch  

Question ID : 26433089746

Status : Answered

Chosen Option : 1

Q.2 Select the most appropriate option to fill in the blank.

The doctor directed the nurse to administer an __________ medicine to the patient.

Ans 1. insightful

2. alternative 

3. official

4. eminent

Question ID : 26433073791

Status : Answered

Chosen Option : 2

Q.3 Rearrange the parts of the sentence in correct order.
While physical movement
P. activities may not require physical
Q. is important for children, all learning
R. the part of teachers and students
S. movement and facial expressions on

Ans 1. QSRP

2. RSPQ

3. PRQS

4. QPSR

Question ID : 264330104690

Status : Answered

Chosen Option : 4

Q.4 Select the most appropriate synonym of the underlined word in the given sentence.

The sporadic instructions of the invigilators distracted the examinee.

Ans 1. Continuous

2. Repetitive

3. Occasional  

4. Indirect  

Question ID : 26433071965

Status : Answered

Chosen Option : 3
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Q.5 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. A panther is reported to have broken into a house yesterday in search of food and
shelter.
B. The villagers heard his cries and ran to the house but the scared animal had run
away through the window by then.
C. It secretly slouched into a room where a young man named Johnny was sleeping,
who suddenly woke up and realised that the beast was roaming around his bed.
D. Just as the panther was about to leap on him, he swiftly shot out of bed and hid in a
closet.

Ans 1. ACDB

2.  ABDC

3.  BDCA

4.  DCAB

Question ID : 26433093050

Status : Answered

Chosen Option : 1

Q.6 Select the option that can be used as a one-word substitute for the given group of
words.

A piece of a living tissue or plant that is transplanted surgically

Ans 1. Gourmet

2. Graft

3. Gratis

4. Gracious

Question ID : 26433070708

Status : Answered

Chosen Option : 2

Q.7 Select the sentences that contains no spelling errors.

Ans 1. Many communities in the world still feel that their voices and position has been
dysenfrenchized.

2. Many communities in the world still feel that their voices and position has been
dissenfranchised.

3. Many communities in the world still feel that their voices and position has been
dysenfranchised.

4. Many communities in the world still feel that their voices and position has been
disenfranchised.

Question ID : 26433070695

Status : Answered

Chosen Option : 4

Q.8 Select the correct direct form of the given sentence.
He said that something might be missing in there.

Ans 1. He said, “Something had to be missing in there.”

2. He said, “Something is been missing in here.”

3. He said, “Something could be missing in here.”

4. He said, “Something may be missing in here.”

Question ID : 264330104629

Status : Answered

Chosen Option : 4
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Q.9 Select the INCORRECTLY spelt word.

Ans 1.  Pie

2. Sleek

3. Peircing

4. Itch

Question ID : 26433063140

Status : Answered

Chosen Option : 3

Q.10 Select the option that contains a grammatical error in the underlined portion.

It would be impossible for them to continue living in this world if each of them knew
exactly what fate had it store for them.

Ans 1. It would be impossible for them to continue living in this world if each of them knew
exactly what fate had it store for them

2. It would be impossible for them to continue living in this world if each of them knew
exactly what fate had it store for them.

3. It would be impossible for them to continue living in this world if each of them knew
exactly what fate had it store for them.

4. It would be impossible for them to continue living in this world if each of them knew
exactly what fate had it store for them.

Question ID : 26433088591

Status : Answered

Chosen Option : 2

Q.11 Choose the correct meaning of the given idiom.
In weal and woe

Ans 1. In happiness and good times

2. In sad and gloomy days

3. In prosperity and adversity

4. In despair and failure

Question ID : 26433060919

Status : Answered

Chosen Option : 3

Q.12 Select the most appropriate meaning of the given idiom.

A green horn

Ans 1. Skilled person

2. Clever person

3. Uneducated person

4. Inexperienced person

Question ID : 26433072276

Status : Answered

Chosen Option : 4
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Q.13 Select the most appropriate synonym of the given word.

Competent

Ans 1. Capable

2. Poor

3. Beginner

4. Complex

Question ID : 26433071871

Status : Answered

Chosen Option : 1

Q.14 Select the most appropriate ANTONYM of the underlined word.
Failure to carry hall ticket to the exam is considered as a trivial issue.

Ans 1. kind

2. underrated

3. serious

4. problematic

Question ID : 26433059732

Status : Answered

Chosen Option : 3

Q.15 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Rajan is having three brothers and three sisters.

Ans 1. Rajan has 

2. Rajan was having

3. Rajan has been having

4. Rajan having 

Question ID : 26433088744

Status : Answered

Chosen Option : 1

Q.16 Select the option that expresses the given sentence in passive voice.

Priya washes her clothes in the evening.

Ans 1. The clothes were washed by Priya in the evening.

2. The clothes are washed by Priya in the evening.

3. The clothes was washed by Priya in the evening.

4. The clothes is washed by Priya in the evening.

Question ID : 26433093524

Status : Answered

Chosen Option : 2
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Q.17 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. They also wore felt caps to cover their ears.
B. They wore trousers tucked into leather boots.
C. This place was famous for its skilful archers and horsemen.
D. In the 5th and 4th centuries BC, today’s south Ukraine was known as Scythia.

Ans 1. CBDA

2. BCDA

3. DCBA

4. ABCD

Question ID : 26433070702

Status : Answered

Chosen Option : 3

Q.18 Select the most appropriate synonym of the given word.

Announce

Ans 1. Advertise

2. Hide

3. Denounce

4. Secret

Question ID : 26433060886

Status : Answered

Chosen Option : 1

Q.19 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

He used to reply / that the only place / for which he went / was the town library.

Ans 1. He used to reply

2. that the only place

3. was the town library

4. for which he went

Question ID : 26433092268

Status : Answered

Chosen Option : 4

Q.20 Select the correct active form of the given sentence.
The clothes will be delivered by the shop on Monday.

Ans 1. The shop would be delivering the clothes on Monday.

2. The shop will deliver the clothes on Monday.

3. The shop will be delivering the clothes on Monday.

4. The shop would deliver the clothes on Monday.

Question ID : 264330104574

Status : Answered

Chosen Option : 2
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The modern-day student is extremely 1____ with technology. They do read quite a bit
because of social media. While their writing skills may not be top notch, they do write,
courtesy 2___ affinity to various platforms on the internet. However, one skill that has been
3______ affected is listening skills. They are extremely poor 4______ listeners. If this issue is
not addressed, what we may be heading to in the future is a huge chunk of people across the
globe, with poor skills of listening, and a huge number of passive listeners. Researchers say
that listening is the prime ingredient for empathy and the world will be in extreme poverty in
terms of number of 5_____ on the planet.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. hindered

2. savvy 

3. dreary

4. disconnected

Question ID : 26433073962

Status : Not Answered

Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The modern-day student is extremely 1____ with technology. They do read quite a bit
because of social media. While their writing skills may not be top notch, they do write,
courtesy 2___ affinity to various platforms on the internet. However, one skill that has been
3______ affected is listening skills. They are extremely poor 4______ listeners. If this issue is
not addressed, what we may be heading to in the future is a huge chunk of people across the
globe, with poor skills of listening, and a huge number of passive listeners. Researchers say
that listening is the prime ingredient for empathy and the world will be in extreme poverty in
terms of number of 5_____ on the planet.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. there

2. they’re

3. dare

4. their 

Question ID : 26433073963

Status : Answered

Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The modern-day student is extremely 1____ with technology. They do read quite a bit
because of social media. While their writing skills may not be top notch, they do write,
courtesy 2___ affinity to various platforms on the internet. However, one skill that has been
3______ affected is listening skills. They are extremely poor 4______ listeners. If this issue is
not addressed, what we may be heading to in the future is a huge chunk of people across the
globe, with poor skills of listening, and a huge number of passive listeners. Researchers say
that listening is the prime ingredient for empathy and the world will be in extreme poverty in
terms of number of 5_____ on the planet.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. daily

2. through

3. holistically

4. thoroughly 

Question ID : 26433073964

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The modern-day student is extremely 1____ with technology. They do read quite a bit
because of social media. While their writing skills may not be top notch, they do write,
courtesy 2___ affinity to various platforms on the internet. However, one skill that has been
3______ affected is listening skills. They are extremely poor 4______ listeners. If this issue is
not addressed, what we may be heading to in the future is a huge chunk of people across the
globe, with poor skills of listening, and a huge number of passive listeners. Researchers say
that listening is the prime ingredient for empathy and the world will be in extreme poverty in
terms of number of 5_____ on the planet.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. active 

2. distinctive 

3. demonstrative 

4. passive 

Question ID : 26433073965

Status : Answered

Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The modern-day student is extremely 1____ with technology. They do read quite a bit
because of social media. While their writing skills may not be top notch, they do write,
courtesy 2___ affinity to various platforms on the internet. However, one skill that has been
3______ affected is listening skills. They are extremely poor 4______ listeners. If this issue is
not addressed, what we may be heading to in the future is a huge chunk of people across the
globe, with poor skills of listening, and a huge number of passive listeners. Researchers say
that listening is the prime ingredient for empathy and the world will be in extreme poverty in
terms of number of 5_____ on the planet.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. characters

2. donors

3. sympathisers 

4. empathisers 

Question ID : 26433073966

Status : Answered

Chosen Option : 4
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